SN 2gene|n
HE: LAHBRHH RE(EH/BAR)
el S E2ACIANY (G2 &)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
g e 3,389,520 3,809,786 A420, 266
2 20,185
J| 1,471,512
[ 345,587
Al 1,547,736
= 4,500
ZAHMUR M PH(2AH/22H2R) 2,530,303 3,138,568 608,265
= 20,185
| 1,031,559
& 324,613
Al 1,149,446
= 4,500
2| AL 458,945 750,695 A291,750
= 20,185
7| 46,979
& 22,852
Al 368,929
ZEHAC ALY 3,420 3,420
201 22| 420 420 0
02 33234l 420 420 0
OZs JIAE AX 25|
5,0002*23|x 122 120
O2I|4RI| Sl 300,0002*13] 300
307 QI2H0| & 3,000 3,000 0
01 o2 2 3=t 3,000 3,000
OZsHOEE 10, 000RI+50 2 +6 2 3,000
()OIt M A HI K& 15,834 15,750 84
= 7,917
& 7,917
301 LBIEN = 15,834 15,750 84
= 7,917
& 7,917
01 AIBIBEEGI2(Z20EXZS) 15,834 15,750 84
OMIFeHEIoIMA | XIS
188,500 x7Hx 122 15,834
= 7,917
= 7,917
(2)EHHIQITIGHAFA LG A 22 XI22 6,840 6,120 720
= 6,840
301 YBHEXZ 6,840 6,120 720
= 6,840
01 AR BEASHZ2(=DEXTNS) 6,840 6,120 720




]

A ZEE2

ni;

22|
NI 2AHRALIMH PH(2AH/2AHAR)
el A CEEEN
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
O8Ol TIIGHAH A4S XIS
190, 00024 x3Hx 122 6,840
= 6,840
(2)0l0| =2l X2H| 15,600 10,000 5,600
7l 7,800
[ 2,340
Al 5,460
301 Y2 A S 15,600 10,000 5,600
7l 7,800
[ 2,340
Al 5,460
01 AFRIBEESFHS(RNEER) 15,600 10,000 5,600
O0loI= &lZd| I 15,600,000 %1 A! 15,600
7l 7,800
[ 2,340
Al 5,460
(2)SAABHZCIAIL (AFZHI]) 28,325 55,552 N2T,227
7l 14,162
[ 4,249
Al 9,914
201 L2 2,000 3,000 1,000
7l 1,000
[ 300
Al 700
01 AFR2t2IHI 2,000 3,000 1,000
OYEIZAl EEEE 2 NSNE 7
1,000,00084x2% 2,000
7l 1,000
[ 300
Al 700
307 ©I2t0|® 26,325 51,952 N25,627
7l 13,162
[ 3,949
Al 9,214
0122 2 3=t 26,325 51,952 N25,627
OZBASIIAL S 6,868,0002* 14! 6,868
7l 3,434
[ 1,030
Al 2,404
OP)==YSE-INEEFN| 3,003,000 % 1Al 3,003
7l 1,501
[ 451
Al 1,051




A 2gEae| Y
Ha: 2GHRAHA AE(BH/EAHAE)
S 2y ALY (Ctol: ®M2l)
SN B SL(3) - MBAY - BaS Ofl st e RS2
SEEY EEEIEN-EEEREES
16,454,0002 %14l 16,454
p) 8,227
[ 2,468
Al 5,759
(2)BAHAZH2 A (01 2HY]) 37,714 73,592 135,878
p) 18,857
Al 18,857
101 Q1AH4H| 37,714 73,592 135,878
p) 18,857
Al 18,857
04 22 ISR 37.714 73,592 A35,878
OZSMUZSAL O_Iaul($§¢g peg=13)
86,00021*1Hx3142 27,004
p) 13,502
Al 13,502
OZSFEIBAL QB2
50,0002+ 1+ 122 600
p) 300
Al 300
OZSFL2AS AL O9H|
100,000 % 1Zx 122 1,200
p) 600
Al 600
OZSFEISAL ATHE
300,000 %12+ 122 3,600
p) 1,800
Al 1,800
OZSMLUASAL M0IZ(HESY)
400,000 %1 23] 800
p) 400
Al 400
OZMLUBAL E1R2
4,190,000 1Hx13] 4,190
p) 2,095
Al 2,095
oul=t| 80,000 %1 x4 =+ 320
p) 160
Al 160
(2)ZsHEIT 2A L XER| 2 10,857 0 10,857
= 5,428
[ 1,629
Al 3,800
307 Q1201 10,857 0 10,857
= 5,428




SA 2HER|D
M ALY PE(2A/2B2OR)
el 2iEg e A Y (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
= 1,629
Al 3,800
01 22 & 3= 10,857 0 10,857
OZHMET2AA L X
10,857,00024% 14! 10,857
= 5,428
[ 1,629
Al 3,800
BEETEEREIINE 6,156 5,868 288
& 1,847
Al 4,309
307 2I2F0| A 6,156 5,868 288
& 1,847
Al 4,309
01 2 ¥ 3=yl 6,156 5,868 288
OZ Al XI& 3,8002%1,620H 6,156
& 1,847
Al 4,309
L AHDZ| ALY 310,806 533,043 ~222,237
101 2124d| 77,472 120,674 N43,202
04 JI2tHIZ22MEE 77,472 120,674 N43,202
Ogsl A= 012 77,472
—QISol(=E AT Hat)
78,8803 #4H*243 76,672
—9fo} D TARF SAHLECH]|
100,000 x4 23] 800
201 22| 37,210 67,229 A30,019
01 Al22r21H| 26,900 53,900 A27,000
OAE L 2o =22 MR
2,000&*35*3, 0004 18,000
OAE L eeole S0 FIR
60,0002 *3Z307H 5,400
OLAA=DR| AQE T2
100, 00024 5CH 500
O 8%t 0lzH 500, 0008 *43] 2,000
OEAH20 YTs NSNS M
5,000& %2002 1,000
02 32494 10,110 13,329 N3,219
Oy JIAS 93 =
5,00024% 15021 750
OXQIA B3HAIIHIR 249X
500,000& = 1CH 500
Ogog = 2K 6,100
—gole MASI| A
200,000 <4 CH+23] 1,600




SA: g
HEM: 2AHRARHH RE(LAH/2HAR)
CHRl: 2 22| ALY (crel: 22l
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
—goi2 X0 ERASI| KA
500,000+ 1CH 500
-2 SHE ARASI| KX
100, 0002 *40CH 4,000
OIS (Y= D) 200,0002* 12 2,400
OatslaE Q2(Le & D)
30,0004 128 360
04 UASEHEXM S A 200 0 200
O 4D ZEARF S2ALECH]
100,000 %1 H 23] 200
206 XHEH] 106,060 112,650 6,590
01 H2HI 106,060 112,650 6,590
Ogteiae| L2 5,160
] 1,72024%3,000 £ 5,160
Ogfel QBtorE ol 90,900
— SO 60,0002 *400S 24,000
—&SH 41,0002 %4005 16,400
—REIHAE L A7
40,0002 *400S 16,000
—Xs2ADI2 = DT
300, 00024 +25CH 7,500
—&0E = JIIA
3,00021%9,000S 27,000
OgAASH 2L 10,000
—SHASH(ADLS)
10,0002*1,000H 10,000
301 YB3 2,100 1,000 1,100
11 BAFAHIXIRZ2 600 0 600
OB2Z0l 298 AKX 2+AH
3,0002%200H 600
14 J|EtR A S 1,500 1,000 500
OYAAS At 2 TISHEA
1,000,0002* 124 1,000
OLASRQ! 29 LAY
250,000 x2H 500
307 2I2H0| & 12,890 212,890 A200,000
05 DIZIES 12,890 12,890 0
Ostdig 22|85 etz
12,890,000 * 14! 12,890
308 XXIEHRISOIA 57,474 57,474
07 RXISHHI2re e 2 57,474 0 57,474
ODR2LHY Zely|AxIZH| X
57,474,0002 % 14! 57,474
405 THAHE SH 17,600 18,600 21,000
01 AU SEFSH| 17,600 18,600 21,000
Ogtel AS)| | 6,500




SA: 2ge@e|D
M AAHDR|H N PE(2H/2AAR)
SRl 2| ANY (Ctol: ®M2l)
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
—XBE HA A=)
1,800,000 »2CH 3,600
—ElE %o A=) 580, 0002 *5CH 2,900
OMSHHII(ESD]) &
1,000,0002*10CH 10,000
OBMEIITIM NSEAD| &3
1 100,000 *17H A 1,100
(R2VNSHHZESNSANS L =X 8,000 0 8,000
9] 4,000
[ 1,200
Al 2,800
201 Ler2ay| 7,000 0 7,000
p] 3,500
= 1,050
Al 2,450
01 AlRZ2lt] 1,000 0 1,000
OMSHR 202 22 729
1,000,0002 %1 4! 1,000
p] 500
= 150
Al 350
03 #HAL2ZH| 6,000 0 6,000
OMZSHI2 2023 A 29
6,000,0002* 14! 6,000
p] 3,000
= 900
Al 2,100
301 LEtEAEZ 1,000 0 1,000
p] 500
= 150
Al 350
TENNEE 1,000 0 1,000
OMSHI2 2o/2@ &IIAF 2+l
4,00021+50 2 %53 1,000
p] 500
= 150
Al 350
(2) O S UAHZAIM AR AEAX 2 2,160 0 2,160
p] 2,160
307 QI2H0IA 2,160 0 2,160
9] 2,160
02 QIZHAAAIRI B R 2,160 0 2,160
OOl LAIHH 2o € X
2,160,000217H A 2,160
9] 2,160




SN ZEHBD
Bay: ARl DE(2A/2AE)
el A CEEEN
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
EREENEEENESEEEES 3,000 3.000 0
= 600
Al 2,400
201 ZEr= ] 3,000 3.000 0
= 600
A 2,400
02 E232EH| 3,000 3,000 0
OSSN LAAY S+
3,000,00024+14! 3,000
= 600
A 2,400
BREZEENEENE 10,233 25,000 A14,767
= 3,070
Al 7,163
201 EH=2EH| 10,233 22,000 A11,767
= 3,070
A 7.163
01 AtR2te|H] 10,233 22,000 A11,767
OUBLEY oYy 222 7
3,000&*2, 800K 8,400
= 2,520
A 5,880
OuBAY Ol 2B X
1,000& #3335 333
= 100
Al 233
ol AH 0I5l
150,000&* 103 1,500
= 450
A 1,050
HEES At 2,071,358 2,387,873 A316,515
| 984,580
= 301,761
Al 780,517
= 4,500
UETE=ENE 62,698 70,249 A7,551
201 LEr2 ] 7,89 16.688 1,210
o1 M2l 4,320 14,280 40
OUILEE OHHE U HA FZ
10021+40, 0000H 4,000
ONZS OIRE M
10021+40, 0000H 4,000
O™ZTA 291 FIMII2 7
80,0002 x22x2d 320




SA: g
HEM: 2AHRARHH RE(LAH/2HAR)
20 HHES A (Crel: & 2l)
SH - EHH . O(3) - NRAIY - B Ofl st e RS2
ONLEE 222 M
2,00021%35 1,000 6,000
02 2229 3,578 2,408 1,170
ONYEE ot TR
2,530 %2001 12 608
OHAIR WAD QA 224
350,000 *3CH 1,050
OBHAlE HETD OHNEY 248
270,000 *3CH 810
OBHAIZ WA HiE 2l DA
370,000 %3CH 1,110
307 212+0|& 44,800 3,600 41,200
0122 2 3=y 44,800 3,600 41,200
ONLEE 2A2E ¢
300,000 * 12 3,600
OFAHS L DA AZ2UL} WAl 2
10,7002, 000H 21,400
OFAHS 2 DA QUSRI fIEQ2I |2
AZHl X2 19,8002%1,000H 19,800
(2)22LHI KHES RAE2I2T|2 Al 387,264 643,650 N256,386
7l 193,632
[ 58,090
Al 135,542
307 212+0|& 387,264 643,650 N256,386
7l 193,632
[ 58,090
Al 135,542
01228 2 3=y 387,264 643,650 N256,386
OD2LHY HUTE ASo|2|2 AR
387,264,0002* 14! 387,264
7l 193,632
[ 58,090
Al 135,542
(2)HLEES=HH 2 31,9% 27,240 4,686
7l 13,713
Al 13,713
= 4,500
101 @124t 31,926 27,240 4,686
7l 13,713
Al 13,713
= 4,500
M IIHR2R2IEES 31,926 27,240 4,686
ONUBES=LE 29 31,926
—QIR(FS4LES)
78,8802 % 124+314L! 24,769




SN Zegaen
R UAHDRHH PH(EH/BH2)
o2l OIYES At (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
D] 12,385
Al 12,384
—4H 28 200, 000241 122 2,400
7| 1,200
Al 1,200
— 0t 257,000+ 1 257
7| 128
Al 129
—g==2 4,500,000 *1H ,500
= 500
(V2L E AABHALNAEE) 1,660 1,672 INE
7| 830
= 249
Al 581
307 QI2H0| & 1,660 1,672 INE
7| 830
[ 249
Al 581
01 22 2 3=t 1,660 1,672 INE
OBE2HY Z=AD| 2 (ALY
66,4002 x25H 1,660
7| 830
[ 249
Al 581
(2)2ILE S AA(HI0IHARE) 576,266 557,150 19,116
7| 288,133
[ 86,440
Al 201,693
307 QI2H0| & 576,266 557,150 19,116
7| 288,133
[ 86,440
Al 201,693
01 o2 2 3=t 576,266 557,150 19,116
Ogl2tgolel MEH| X2
61,0002*8,0002 488,000
7| 244,000
[ 73,200
Al 170,800
OBAHA (LEHE o= PYH|
44, 1332%2, 0002 88,266
7| 44,133
[ 13,240
Al 30,893
(2)2IH0LEB LA (G A HAEHPVOZES) 15,842 15,722 120




SN Zggae|
HE: AAHPLIH Y PE(2A/2A0I2)
SR CIHES ALY (Ctol: ®M2l)
SN B O(3H) - MBEAR - BAS Ofl ko e MMimE="
J| 7,921
& 2,376
Al 5,545
307 Q120X 15,842 15,722 120
J| 7,921
= 2,376
Al 5,545
01 9= & 3=H| 15,842 15,722 120
OfEo =012 83H| X
19,610& *500H 9,805
J| 4,903
= 1,470
Al 3,432
OBAA HYES 242 2|
30, 185& 200X 6,037
J| 3,018
& 906
Al 2,113
(2)=2IHHHEE AA(HRNHEES) 822,848 869,282 N6 ,434
J| 411,424
= 123,427
Al 287,997
307 QI2+0| & 822,848 869,282 N46,434
J| 411,424
= 123,427
Al 287,997
01 9= & 3=H| 822,848 869,282 A46,434
OfIgel= 0|2 E&H| K&
19,6102/%25,000" 490,250
J| 245,125
= 73,538
Al 171,587
OQIERIX HELES 2=E 2|
10,800&/%19,000" 205,200
J| 102,600
= 30,780
Al 71,820
ONAEHLEESAE 22H|
32,6663 *3,900H 127,398
J| 63,699
= 19,109
Al 44 590
(2)0{2I0] IZERAXIHBEE 118,570 106,986 11,584
J| 59,285




SA: e
HE: AAHPLIH Y PE(2A/2A0I2)
ol OB S At (cro): =2l
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
< 17,786
Al 41,499
307 2I2+0| ™ 118,570 106,986 11,584
Jl 59,285
= 17,786
Al 41,499
012 € 2= 118,570 106,986 11,584
Of&eg)12 E3Hl X&
19,61024%5,500% 107,85
Jl 53,927
= 16,178
Al 37,750
O=222a HgES o5 22|
10,7153 1,000 10,715
Jl 5,358
= 1,608
Al 3,749
(R)Serd(1erd) ASRAX HLES 14,064 19,232 ~5,168
7l 7,032
= 2,110
Al 4,922
307 212t01 ™ 14,064 19,232 ~5,168
7l 7,032
= 2,110
Al 4,922
012 € 2= 14,064 19,232 ~5,168
Of&eg)12 E3Hl X&
19,610&+500& 9,805
7l 4,902
= 1,471
Al 3,432
O=2d4 HYES 4S5 2l
10,6473%4008 4,259
7l 2,130
= 639
Al 1,490
(S)LAUSUSATL HLES 5,220 4,564 656
7l 2,610
= 783
Al 1,827
307 2I2t01 ™ 5,220 4,564 656
Jl 2,610
& 783
Al 1,827




SN Zggae|
HE: AAHPLIH Y PE(2A/2A0I2)
SR CIHES ALY (Ctol: ®M2l)
SN B O(3H) - MBEAR - BAS Ofl ko e MMimE="
01 9= & 3=H| 5,220 4,564 656
OfIgel= 0|2 E&H| K&
19,6108 %200 3,922
J| 1,961
o= 588
Al 1,373
OQIZ2IT OIYEE oE 22|
10,816 %120 1,298
J| 649
o= 195
Al 454
(Z)HAZX oeEs 35,000 35,000 0
& 10,500
Al 24,500
307 Q120X 35,000 35,000 0
& 10,500
Al 24,500
01 2 & & 3=H| 35,000 35,000 0
OfEo 20|12 HEY|
100,000/ *350H 35,000
= 10,500
Al 24,500
BAOS XS HAH R=E(BH/BH2) 665,717 671,218 A5,501
J| 439,953
o= 20,974
Al 204,790
O|R HA 516,979 522,970 A5,991
J| 438,503
o= 17,359
Al 61,117
o2 =9 4 = 20,679 20,660 19
101 Q124d| 789 770 19
04 JI2tHI22XsSE S 789 770 19
QDS L OIHAE 22|(HE & H=H
o 5) ol 78,8801+ 10 789
201 LBt AHH| 12,700 12,700 0
01 AFR2t2ld| 9,700 9,700 0
OL2 2t S0 HIE
60,000& *5& *x23| 600
Osa2z 2d =22 ME
5,000& *25*300H4 3,000
OalANM=s e E292 M
2,000 & *35+500H4 3,000
OdHAM= = EE ZAH, 2|23 M
1,000 *25+5000H 1,000




A 2gEae| Y
Ha: BHOZA2Y PE(2A/2AHE)
i R b (Ero|: X2l
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
ORBR(ERIARIE) T2 QXE4
50,0002 x2CH+ 128 1,200
O2lorA RSEY T2 2%
75,0004 1CH* 122 900
02 222y 3,000 3,000 0
O22)|2t N 8 42
250,00024% 120 A 3,000
301 YBHEHS 1,190 1,190 0
11 SAAHIXI 22 1,190 1,190
O2lotae|e = 2tets| 29
7,000 %50 %23 700
OalHAME NF ZHOIX 2HAIRZ
3,50024+ 140 490
307 Q1201 1,000 1,000 0
01 92 & 3=y 1,000 1,000
OalHAMz NS DU 2A2IZE P(BtlA
2eE, 22l 5)
2,500 *4Z 100K 1,000
401 AlEHIZ 20| 5,000 5,000
01 Al&H] 5,000 5,000
OSZoA2EY)| QIHH 2 HEH ALS HESN
5,000,000 * 14l 5,000
ENESVEREEWNE 1,990 2,000 A10
7| 1,393
[ 199
Al 398
201 L2y 1,990 2,000 A10
7| 1,393
[ 199
Al 398
01 AFR2Hel| 1,990 2,000 A10
OnlslSs 29 o EEEE ¢
1,500,000 % 14! 1,500
7| 1,050
[ 150
Al 300
Ol Z20HHItHE B
245,000 x2H 490
7| 343
[ 49
Al %8
(2)F XS SZol2MIEH - I 22| X 385,110 385,110 0
7| 385,110
307 I2H0|& 385,110 385,110 0
7| 385,110




22|
SHZRZHH RE(E2H/2AH2AR)
oot iy (Che: &)
SA - EHH . E(BH) - HRAY - BES e HIDS2
02 QIFAAAIIE R 385, 110 385,110 0
OF2Xe 232202 2 X (A, 2BAH
192,555, 0002 %20 A 385,110
7l 385,110
()X QAHR BBAIY X 104,000 110,000 6,000
7l 52,000
[ 15,600
Al 36,400
307 212+0|& 104,000 110,000 6,000
7l 52,000
[ 15,600
Al 36,400
05 DIZtQES 104,000 110,000 6,000
O2YLYH XWX T2 )2 2
104,000,000 * 14! 104,000
7l 52,000
[ 15,600
Al 36,400
(S)HQIAZS| 2K ALY X 4,000 4,000 0
[ 1,200
Al 2,800
201 L2 A 4,000 4,000 0
[ 1,200
Al 2,800
01 AF222IHI 4,000 4,000 0
OHo/E 2| 24 222 M
5,600« 1007H%55 2,800
[ 840
Al 1,960
OHL%E =Hg 7 60,0002 20K 1,200
[ 360
Al 840
BENEENPIENEES! 1,200 1,200 0
[ 360
Al 840
301 YB3 1,200 1,200 0
[ 360
Al 840
14 J|EtE A2 1,200 0 1,200
OAHIXIIZI DI ZAIR ¢
50,0002 %22 12 1,200
[ 360
Al 840
NECIEREE 148,738 148,248 490
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2AM:
X{XH -
o /e

cH):

O 10 0g
o pru e

A HL 0y
U Y 02

r

S - EHH - SR(E) - HRAIR - B ofl e e imE=T
| Ogiolg X0 7 300, 000 *2CH 600
(S) ORI E 2ol 2H| X 10,000 15,000 5,000
[ 3,000
Al 7,000
301 LBtEE3 10,000 15,000 5,000
[ 3,000
Al 7,000
02 AFSIEEESHS(FAAS, XILHH) 10,000 0 10,000
OMIIXEEX ol 2H| X
250,000 %402 10,000
[ 3,000
Al 7,000
(S)2IXZE TIGHA QoUAE SeHT|2 600 600 0
[ 180
Al 420
301 LBtE A2 600 600 0
[ 180
Al 420
02 AFSIERESHS(FAAS, XILHH) 600 0 600
OSIRFZEr MIGHA kA Sact
50,0009+ 1Z* 122 600
[ 180
Al 420
QIAtHR| AbSS 94,455 93,194 1,261
101 Q1] 29,187 28,476 711
04 JI2AH2Z2XSES 29,187 28,476 711
OA2LATB2| BEOI ol 29,187
—oI=Y 78,8804 %23 %140 22,087
-5 78,880 %2 X x452! 7,100
201 LB 30,338 29,788 550
01 AlR2:2IH| 27,888 3,036 24,852
OQUAIHZ| AL HIZ Held|
6002*1,500 £ 900
OII=H] 300
—dE=s 50,0002 100
—HARHA Dt2 40,0002 *5 200
OZAISA!, KLUEEA S JI2, AE NEH]
85,0009 23] x 122 2,040
OLALE BAK DIEHS 22
8,00094+3H %43 %
OZARS AL &H| L PACSAIH SXIHI 24,552
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